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 Type - A    Answer Key

   T - 07

1 thmÄ«v \nÀhN\w
Definition of 1 volt 1 1

2 heXp ssI s]cphncÂ  \nbaw
Right hand thumb rule 1 1

3 NmeI NpäpIfpsS F®w
Im´¯nsâ  iànthKw (any 2)
No of coilsStrength of
magnetSpeed ( any 2) ½ x 2 1

4 30o 1 1
5 H = I2Rt

= 2x2x100x300
=12 00 00 J ½½1 2

6 sshZypX {]hmlw hn]coX
Znibnem¡pIIm´w hn]coX
coXnbnÂ hbv¡pI
Reverse the currentReverse the
magnet 11 2

7 kqNn Hcp hit¯¡v hn{`win¨v
A\§msX \nÂ¡pwskÀ¡o«nÂ
Unkn BbXn\mÂ
The needle deflects in one direction
and remains thereSince there is DC
in the circuit 11 2

8 n = 360 / è – 1
= 360 /60 – 1
= 6-1
= 5 ½ x 4 2

9 sshZyptXmÀPw {]ImtimÀ
Öambn amdpw
Electrical energy into light
energy 1 2

10 f  = uv/ (u+v)
=-15 x -10 / ( -15+-10)
= 150 / -25
= - 6 1½½1 3

11 Fkn ss{]adnbnÂ \ÂIp¶p
sshZypXnbpsS Znibpw ]cna
Whpw amdn s¡mt­bncn¡p¶p
XpSÀ¨bmbn ^vfIvkv hyXn
bm\wFÃm tImbnepIÄ¡pw
^vfIvkv hyXnbm\w A\p`h
s¸Sp¶ptImbnepIfnÂ emf
t{]cnXamIp¶p.
Vs= Ns x e AC is given to
primaryBoth magnitude and
direction of AC changesContinuous
change in fluxAll coils experiences

flux change Emf is induced in coils
Vs= Ns x e ½ x 6 3

12 FÃm {]Xntcm[I§fnepw Htc
Idâ vk^e {]Xntcm[w IqSp¶p
thmÄt«Pv ]¦p hbv¡s¸Sp¶p
XpS§nbh
The same current in all resistors
Effective resistance increases
Voltage is shared etc 1x3 3

 Type - B
1 Idâ v, {]Xn-tcm[w XpS-§n-bh

Current, resistance etc.
2 sshZypX Im´w

electromagnet

3

e
m
f Time   

e
m
f

4 P\tdäÀ Generator
5 P = VI

60 = 240 x I
I = 60 / 240

= 0.25 A
6 XmÂ¡menI Im´w, {[phX

A\mbmtk\ amäwiàn \¶mbn
hÀ²n¸n¡mw XpS§nbh any 2
TemporaryPolarity can easily be
changedStrength can be increased to
a great extent etc  any 2

7 ]camh[n t]mknänhv ]camh[n
s\Känhv Maximum  positive
Maximum  negative

8 a) _Ä_v I¯n AWbpwb) _Ä_v
{]Imin¡nÃa) bulb glows and is
put offb) bulb will not glow

9 DbÀ¶ sdknkvänhnänDbÀ¶
{ZhWm¦w  XpS§nbh H i g h
resistivityHigh melting point

10 Nn{Xw ]qÀ¯nbm¡m³
sNdpXmbXv
bmYmÀ°hpw \nhÀ¶Xpw
Completing the diagram
Diminished
Real inverted

Focus Area Based
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11 u = -90 cm,     v = -60 cm
f = uv/ (u+v)

= -90 x -60 / ( -90+-60)
= 90 x 60 / -150
= -36 cm

12 a) CÃ
b) UnknbpsS Afthm Znitbm

amdp¶nÃ {[phX amdp¶nÃ
^vfIvkv \nÝew^vfIvkv
hyXnbm\anÃemf t{]cWw
sN¿s¸Sp¶nÃ

a) No
b) The magnitude and direction of DC

will not changePolarity does not
change Flux stationaryNo change
in fluxEmf is not induced

 Type - C
1 skÀ¡o«neqsS sshZypXn

IS¶pt]mIpt¼mÄ Xmt]mÀPw
cq]s¸Sp¶ {]hÀ¯\w
The process by which heat is
developed when current passes
through a conductor 1 1

2 ku¯v t]mÄ
South pole 1  1

3 Vs/ Vp                1 1
4 tIm¬tIhv

concave 1   1
5 ^yqkv hbdnsâ A{K§Ä bYm

kvYm\§fnÂ ZrVambn
_Ôn¸n¡Ww ^yqkv hbÀ
ImcnbÀ t_knÂ \n¶pw
]pdt¯¡v XÅn \nÂ¡cpXvThe
ends  of the fuse wire should be
tightly fixed at appropriate
positionsThe fuse wire should not
project out of the carrier 11 2

6 ABCD BÀta¨À R1and R2
kv¹näv   dn§pIÄ    B1 and B2
{_jpIÄ N ^oÂUv amsáäv
ABCD armature R1and R2  split
ringsB1 and B2 brushes N field
magnet ½ x 4 2

7 ta¡vA]v andÀtjhnMv andÀ
XpS§nbh
Make up mirrorShaving mirror
etcetera 11 2

8 NmeI NpäpIfpsS F®w
hÀ[n¸n¡pI Idâ v hÀ[n¸n¡pI
]¨ncp¼v tImÀ Bbn
D]tbmKn¡pItImdnsâ I\w
hÀ[n¸n¡pI
Increase the number of
turnsIncrease the current
Use soft iron as coreIncrease its
thickness ½ x 4 2

9 DbÀ¶ {ZhWm¦wDbÀ¶
sdknkvänhnän  XpbnS§nbh
High melting pointHigh resistivity
etcetera 11 2

10 bmYmÀ°hpw XeIogmbXpw
hepXmbXvNn{Xw ]qÀ¯nbm¡m³
Real, invertedmagnified completing
diagram ½½2 3

11 a) \nÀhN\w
b) {Sm³kvt^maÀ
c)  CÃ
a) Definition
b) Transformer
c) No 1 x 3 3

12 H = V2t/R
= 400 x 400 x 600 / 200
= 48 00 00  J

I = V/R
= 400 / 200
= 2 A ½ x 3 3


